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Censoring is common in medical and natural sciences, particularly where measurements are done via device and the device has a lower or upper detection limit.

Missing values are most common in surveys where a respondent can freely choose not to answer a question.
These situations pose unique challenges to modellers who have to know when and how to adjust for such issues.
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Markov chain simulation methods have a random starting point and dependence between simulated vectors. They do not immediately cover the target accurately. Thus, it is important to assess convergence for
any simulation process in order to be able to trust the output. It is also important to assess fit in general, to answer the question of whether the convergence was to the correct distribution.
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Unusual situations arise regularly in real world problems. It is important to be able to handle unorthodox situations. Suppose you are tasked with fitting a Gamma distribution to 200 real values, but you are told
that the second 100 values are measured more accurately than the first 100 due to some measuring process improvement. You are asked to provide the joint mean and both variances (with uncertainty).
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